
Calculus	12	
10-5	Trigonometric	Identities	
	
1.	Use	the	reciprocal,	quotient,	and/or	Pythagorean	relationships	to	prove	each.	
a)	

€ 

sinx tanx = secx − cosx 	 	
	
b)	

€ 

cos4 x − sin4 x =1−2sin2 x 	
	

c)	

€ 

tanx + tany
cotx + coty

= tanx( ) tany( ) 	

	
	
2.	Use	the	addition	and	subtraction	formulas	to	prove	each.	
a)	

€ 

cosx + y( )cosy + sin x + y( )siny = cosx 	 	
	

b)	
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c)	

€ 

sin x + y( )sin x − y( ) = cos2 y − cos2 x 	
	
	
3.	Use	the	related	and	co-related	angles	to	prove	each.	

a)	
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b)	

€ 

cos−x( ) + cosπ − x( ) = cosπ + x( ) + cosx 	
	
	
4.	Use	the	double	angle	formulas	to	prove	each.	

a)	

€ 

sin2x
1+ cos2x

= tanx 	

	
b)	

€ 

2csc2x = secxcscx 	
	
c)	

€ 

2cot2x = cotx − tanx 	
	
	
5.	Use	appropriate	formulas	and	identities	to	prove	each.	
a)	

€ 

cosx = sinx tan2 xcot3 x 	
	
b)	

€ 

sinx + cosx( ) tanx + cotx( ) = secx + cscx 	
	


